EANRAROESIERT —

ZN—BISH—F

2014118248 (B

) 7EKR6H

m C1 ¥>%—##% ‘ [X12] # ‘ [eEmsh]l  — | & () 13000 =
[AE4£] 1% :160,000  ~ 23#%:32,000 ™  33%&:16,000 M . 43&:12,000 57 :4,000 §
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i K = . —4-3-. — Esa =— Y
N > BESZIPZ U 43 ggto” 1.(2_2).5 6-4-3-3 | 39.9 2 :1:377) 1¥§u§1§f§a (KiR)
R:TTyIk—Y BALAR—1aA L HE R
. = o @ ROE— 122, -8-6- . = FEZE (KR)
N DIPEEEPI 4 5 e 1(222)8 9-8-6-4 | 39.4 5 3232) P
R4 F v b BiArT12—% 3 & HAEAKS
. N B : -2-1- — AR (KiR)
3l 6 EXNT # 3 & 1.(2233.1 1-2-1-1 | 40.8 3 <i??> Eﬁgﬁ
RiLF2T—X2N— Bik—U—FH— B/E77—L
RPN ERERE 123, -10-10- . — fREEFD (FKR)
al7lg|vive # 8 e 1/72%1 10-10-10-8 | 38.8 7 (51279) a0
AT RTRIN BikT4 bO—X BEORAS
R S e =Xy . —5-5— - SHAREER (KR)
5 4 4> hO=X/NR 4 3 5':’1”0 (1729371) 3-5-5-4 | 39.9 1 (42)8) i 7]
L:214F¥T v ML B4 bU—7 BKXE YK
6lglo| IXETUT HERAN LR £ 8-6-76 [40.0| — | 4 (49;) e rhl (KiR)
Z:o-xI>J0r B:h1TxeLT RS
N _ S . - _ 1EERE (OKIR)
Jililezry 03— 412 i (11213/27> 1-1-1-1 | 415 6 (4;4) 15/]7'%:7
LYo TF—HALR BHITRRT T4 BET7—L
8 3 FoFS 4TIl 4 4 ZEZJ%E?E 1:(254).5 3-3-4-7 |41.6| — 10 | 42 %%;F;EIEU (7KiR)
QAT GEY Bis—R bS— K e e
] KHPIE .04, ~9-9- . - EEE=S ()
ol8liol 727+ 4 5 = 1724t§s 7-9-9-10 | 40.5 9 (4:316) i
RiFqLNR—pbY— BTFTO-XTFT7— U5 &S
. s 4 | WAHREE 1:25.0 5-7-8-9 | 41.1| — 8 440 | BIAIER] (KR)
10/5|5 | AY— kU= 54.0 @ +8) &) k-5
LY LA N—h B:ariNZX FHiE  SERL
® 1—F—@EBIERL
13=7r= (1,6),(3,4),5,2,10,9,7,8
23— — 1,6,3,2,4,9,5,7,10,8
== (1,6),2,3,4,7,9,5,10,8
40 —F— (1,6),2,(4,7),9,3,8,5,10
[ N5
B 2 330H 714K 2-7 770 e E 2-7 1,700M JEE 2-6-7 7,080M
B B 2 140M 2-6 4804 B = 2-7 3,160M EE 2-7-6 38,780
7 310 6-7 1,290M B H 2-7 4,470M
6 210
ABICOVWTRHDTERERRODLDE, THERLE,




